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Choose the correct answer : = [14"1=.14]
If there are 1024 relations froma set A= {1,2,3,4,5 }toaset B, then the number of eleni®nts in B is
a) 3 b) 2 c)4 d) 8 ‘

f(x) =(x+1)—(x-) represents a function which is

a) linear h) cubic c) reciprocal  d) guadratic

If 6 times of 6'" term of an A.P is equal to 7 times the 7*" term, then the 13™ term of the A.P is

S . b6 ¢)7 d)13 '

BN, letA-{1,2,3,4)andB={a, b,c}.Which of the following is a relation from A to B ?

a) {(1.b),(1,¢):(3,a), (4,b)} b){(1,2),(b,4.),(c,3)

€{(1,a),(a,1),(2,b), (b,2) d){(a,4),(b,3),(c,2)}

5. The valuesofaand bif 4x* - 243+ 76x2+ ax + b is perfect square are

5 a) 100,120 b) 10 , 12 ¢)—120 , 100 d) 10, 10

6. Ifr(x)=0when f(x) is divided by g(x) then g(x)iscalled __ of the polynomials.

a) Dividend bk)ouotient  c)remainder d) GCD -

7. Ifin AABC, DE || BC ,AB=3.6 cm AC=2 4 cm and AD = 2.1 cm then the length of AE is

a) 1l.4cm b) 1.8cm cj1.2cm d) 1.05 cm =
ln the adjacent figure ZBAC =50% and AD L BC then

a) BD.CD=BC* b)AB.AC=BC*c)BD.CD=AD? d)AB.AC= AD?

If(5,7),(3,p)ard (6, 6)are collinear, then the value of p is

g} 3 b) 6 c)9 d) 12

When proving that a quadrilateral is a trapezium it is necessary to show

Two sides are parallel. b) Twa parallel and two non-paralleLsides ¢) Opposite sides are parallel

des are of equal length

all the observations divided by number of observations is -

b) mean error c) variance d) standard deviation

slon of the top and bottom of 20 m tall building from the top of a muitistoried building
ive The height of the multistoried building and the distance between two buildings

&




letf={ _
Find all positive integers which when divided by 3 leaves remainder 2.

Find ag and a;s whose nth term is
n2- 1
n+3

n® ;
; m;n:sodd,nEN
19. Find the LCM of each pair of the following polynomial a?+4a—12,a*~5a+6 whose GCDisa—2
0. Find the square root of the following rational expression
121 (a+b)® (x+y)% (b—c)®
8l(b—-c)(a—b)2(h—c)* B
i A
- 21. InAABC, D and E are paints an the sides AB and AC respectively such that DE | | BC Ifﬁ ek and AC= 15

e cm find AE. -
~ 22. Aman goes 18 m due east and then 24 m due north . Find the distance of his current position from the
3 starting point?

: 23. Find the area of the triangle formed by the points (1,-1),(-4,6 Jand(-3,-5 )

_ 24, Find the equation of a line whose intercents on the x and yaxesare4,-a.

- 25. Prove the below identities cot & + tan @ =secd cosecd

26. If the ratioh of radii of two spheresis4 : 7, find the ratio of their volumes

27. Find the range and coefficient of range of the following data. 65 , 89,98 , 125 79,108 [ 1%7 , 68

: 2 .-
28. IfP(A):;, P(B)=E,P(AUB)=13thenﬁndP(AnB}
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(-1, 3),(D,-i),{2,-9)}beaIinearfunctionfromﬁintoz.Findf(x)

;iviseven,n €N
an= it

Ill. Answer 10 questions . Quesiion No 42 is co}npulsory ; [ 10x5=50]

9. In ea’ch of the following cases state whether the function is bijective or not. Justify your answer
L E)B f:R2>R deﬁned by f(x) =2x+1 (iDf: R < R defined by f(x) =3 - 4x2
etA, ,CENandafunctionf:A-)Bbedeﬂnedb f(x) = 2% + 1 :
. oy YHx)=2x+1andg: B> Che defined by g(x) = x2 . Find

Ifdis the I.-!ighest common Factor of 32 and 60 find x and y satisfyingd =32 x + 6o
the middle term(s) ofan AP 9, 15 07 . |- !

d the GCD of the following pair of i
polynomials : 12( x* - x? i3
nse]_CM]sz4x3‘x_1(x_2) ( X }rB(X 3w +2x2}




etres is on the top of the hemispherical dome of radius ‘r’ metres. A man is standing 7 m
'om the dome. Seeing the top of the pole at an angle 45° and moving 5 m T from the dome and
e bottam of the pole at an angle 30° . Find (i) the height of the pole (ii) radius of the dome. -

An aeroplane at an alti:cUde of 1800 m finds that two boats are sailing towards it in the same direction. The
- angles of depression of the boats as observed from the aeroplane are 60° and 30° respectively . Find the

- distance between the two boats (v 3 = 1.732 ) ‘

 40.4 persons live in a conical tent whose slant height is 19 cm . If each person require 22 cm? of the floor area ,

p then find the height of the tent. :

41, Awall clock

strikes the bell once at 1 ‘O’ clock and so on. How many times will it strike in a particular day.
Find the standard deviation of the number of strike the bell make a day.

42 In a town of 8000 people ; 1300 are over 50 years and 3000 are females. It is known that 30% of the females

- - Itis known is either a female or over 50 years ?
" PART - IV [ MARKS : 16 )

nswer all questions [2x8=16]
- 43. a) Construct a A PQR in which the base PQ=4.5cm, 2R =35%and the median from Rto RG is 6 cm
3 . [OR]

gled triangle with right angle at B and points D. E trisect BC. Prove

~ b)inthe adjacent figure , ABC is a right an
that 8 AE* = 3 AC? + 5 AD?

‘ [OR]
A boat takes 1.6 heurs longer to go 36 kms up a river than down th

e river . If the speed of.the water
- current is 4km point ,what is the speed of the boat in still water?
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